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Questions : 100

(3)
Class — 10th (SAT)

Scholastic Aptitude Test

Max. Marks : 100

Time : 2 Hours

In the figure, in AABC, AB = AC =
10 cm and BC = 12 cm. P and Q
are the midpoints of AB and AC,
respectively. PM and RN are
perpendiculars on SQ. If BS : SR :
RC =1:2: 1, then the length of

MN is:

(1) ﬁ cm

(2) V13 cm
(3) Ecm

(4) E cm

NTSE-Class-10th(SAT)-2020

1. g H, BT ABC § AB = AC

= 10 99 q BC = 12 99 21 P &l
Q FAL: AB R AC & meafeg 21
PM 3R RN, SQ W @ 21 IR
BS:SR:RC=1:2:1% @ MN

F AR B

(1) %@ﬁ

(2) 13 &

6 %@ﬁ

P.T.O.



2. Which one 1is the

incorrect

statement ?

(1) The

secondary and tertiary sector

activities 1n primary,

are interdependent.

(2) Workers in the tertiary sectors

do not produce goods.

(3) Irrigating his field by a farmer

1s an economy activity.

(4) None of the above

Where was Indian National

Congress founded in 1885 ?
(1) Poona

(2) Calcutta

(3) Bombay

(4) Sabarmati

Choose  the

regulates

which

protein

hormone
carbohydrate,
and fat metabolism in the body so
as to provide the best balance for

growth :

(1) adrenaline
(2) insulin
(3) thyroxin

(4) oestrogen
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(4)

. FEE g e B g B 7

(1) weate, fadae aar o &= o
BN Al Wl th-gE W
fredy 21

(2) gAEE & H FHEbS A awge
& IR el B 2 |

(3) &% fFEN W 9 Tq W &l
HCT T A Tfarafe 7

(4) STNFT § q H5 el

ARAA TSI FHUF B O 1885
¥ %o g2 !

(1) g

(2) FHerha

(3) T

(4) QrEH

39 TEM H A FaReU A AR,
O q a9 & SUdEd @ 8aR
X F IO FXar B oqd gE @

T I Hger S Y@ ©

(1) T
(2) Fgiem
G RRIRRIESE
(4) SEEIo



5. The first DMU Train of India with

solar power coaches was launched

in which of the following station ?
(1) Gorakhapur Railway Station
(2) Safdarjung Railway Station

(3) Delhi Cantonment Railway

Station

(4) Ambala Cantonment Railway

Station

Sexual reproduction in human
beings involves the introduction of
sperms in the vagina of the female
after that in which part of the
reproductive

female system

fertilization takes place ?
(1) ovary
(2) uterus
(3) cervix

(4) fallopian tube
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(5)

5. 9XT # Tedl AR Foll @ $q

(DMU) I@MEl fF8 [Wa @I\ W™
& & T A7

(1) TREYR WA LI

(2) HHELST Y9 M

(3) el BrEel Idd w9

(4) ST BE @d AT

g # A9 oo H Atear & A |
SR T AL BIT 5, 39 a8 HIET
IS 9Ol & fRd AT e
BT © 7

(1) =19
(2) THIE
(3) Frer

(4) sfsdriea

P.T.O.



7.

In 1928 whose image was used to
popularised Baby Products in

India ?

(1) Sweet little girl

(2) Innocent boy

(3) Lord Krishna

(4) Balak (Dhruv)

The flower which contains both
stamens and carpels they are
called bisexual flowers which of
the

following flower pair 1is

bisexual ?

(1) papaya, watermelon

(2) hibiscus, mustard

(3) cucumber, maize

(4) muskmelon, pumpkin
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(6)

7.

1928 ¥ =i & IAE B @rmbg
T % [ fF9 8 @& 93 A

T 7

(1) BIE @R =i

(2) AT AT TSH

(3) A F™T

(4) 9T gd

B g § by g ghex &

B § 3% IRl g &ed &1
4 F B9 g g IHa § 7

(1) 9T, TG
(2) TSEd, axEl

(3) @RI, HaH

(4) G, P



9. Two concentric circles with center

10.

11.

O, have radii 15 cm and 9 cm. From
a point A on the bigger circle
tangents AB and AC are drawn to
the smaller circle at B and C,
respectively, intersecting bigger
circles at D and E, respectively.

OF L DE at F. The length of OF is :
(1) 3.8cm (2) 4.2cm

(3) 4.5cm (4) 5.1cm

Where was ‘cattle - Plague’ spread

in 1890 ?
(1) India
(2) Africa
(3) Europe

(4) China

From A. D. 768 to 770 who

introduced the hand Printing

technology in Japan ?

(1) Chinese People

(2) Chinese Government
(3) Christian Missionaries

(4) Buddhist Missionaries
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(7)

10.

11.

A

% O a0 A TH=E gal H e
15 & X 9 & B @ g9 W Rem
ffg A @ B¢ g0 W Ruq fdgell B
X C W @l WY AD 3R AR
gl I 8, S 98 g9 # FET: D
AX E W Fedl &1 F W OF L DE
21 OF & @ ¥ :

(1) 3.89H
(3) 4.59Hr

(2) 4.2 99
(4) 5.1 99

‘Y- 1890 F FeT a ?

(1) 9Rd
(2) STHIH

(3) T
(4) =9

|9 768 ¥ & 770 TF UE H B
fifdT qebsten b1 fohde 9= e 7

(1) = @Rt

(2) =Ml TR
(3) O Ml
(4) ds e

P.T.O.



12.

13.

In the figure, ABC is a an
equilateral triangle with side 14 cm,

AX=%AB, BY=%BC and CZ=%AC,
What is the area (in cm2) of APQR ?

73
1443

283
9

493

4) 5

Choose the incorrect statement :

(1) A country which is not Republic

1s also not democratic.

(2) A state which has elected head

is called as republic.

(3) In Britain King / Queen is the

head of state.

(4) USA has elected head.
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(8)

12.

13.

SR H, ABC U e By & fore
AX:%AB, BY:%BC e CZ:%AC
g1 APQR &I 8915 (cm2 ) 1 8 ?

493
9

(4)

&G A B G

(1) T 3T N ST TE R,
goTd=g i et B

2 B T & g FeEid
2, oA el ST 2 |

(3) foes ® oM orAr Ml WY &

e e 2|
(4) AR gRaar g1 g3 2 B |



14.

15.

16.

Which state has highest national

park in India out of the following ?
(1) Gujarat

(2) Assam

(3) Madhya Pradesh

(4) Andhra Pradesh

Choose correct statement for
human :
(1) Arteries always carry

oxygenated blood while veins

always carry deoxygenated

blood.

@)

Arteries are provide with valves

while veins are devoid of valves.

(3) Arteries always carry blood
away from heart, while veins
always carry blood towards the

heart.

(4) Venous blood is returned to

left auricle.

pH of .001 M NaOH will be :
(1) .001 2 1

(3) 107 (4) 11
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(9)

A

14. &9 4 ¥ 9§ 99 ™9 ¥ 999

15.

16.

e S JE 2 7
(1) o

(2) FaH

(3) HA YA

(4) TR TR
A& & T @ e g

(1) oot Bhem SfRieE ga T
dar 8 Saie R w9 Sl
e @ Al 2

() g9+a ¥ deg aU o9 SEie
37t ¥ areg el 2id |

(3) eMiAl BHYT T Bl gEF q g A
Sl ¥ ofeiies R gAen R B
& B SN A ol 2

(4) RUE @ 9@ oo @ aag
3 T 2

.001 M NaOH & pH 5 & :
(1) .001 2 1

(3) 1073 (4) 11

P.T.O.



17.

18.

19.

ABEDC 1is a pentagon such that
ABC is an equilateral triangle and
BEDC is a square of side 2 cm. A
circle passes through its vertices A,
E and D. What is the circumference

(in cm) of the circle ?
(1) 3J/3x 2) 437

3) 4m (4) 8n

Who said state is Association of

associations ?

(1) Plato

(2) M. K. Gandhi
(3) Machiavelli

(4) Aristotle

The crossing of homozygous tall
plant with a dwarf would yield

plants in the ratio of :
(1) two tall and two dwarf

(2) one homozygous tall, one
homozygous dwarf and two

heterozygous tall
(3) all homozygous tall

(4) all homozygous dwarf
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(10)

17.

18.

19.

ABEDC U U99S 30 HR & [
ABC ©% guarg BiYs ¢ 3iX BEDC
T a0 & fTEd e 2 & B, U g,
56 9 A, E @1 D & & &Y Sl
T gd B AR (S ) ©

(1) 3J3m 2) 437

3) 4m (4) 8n

T TYEl B qYE &, T8 [Ha e ¢

(1) <
(2) TH. . e
(3) AfFamE

(4) &

UF HgEE o ddl AW aE H
TR HAEET ST A e B I
T B

(1) & T T & 9

(2) Th TOYHE T TR GEYHR
AT SR 3 g a

(3) T THGHE T
(4) T FHGE A9



(11) A

20. One mole of SOz means : 20. TF HiT SO: § IWF 2
(1) 6.4 g of SO2 (1) 6.4 gS02
(2) 2.24 L gas at STP (2) 2.24 L9 STP W
(3) 6.022 x 1023 molecular of SOz (3) 6.022 x 102 37 SO ®
(4) 64 L of gas (4) 64 L ™3

21. Growing two or more crops but 21. T A Y G TF wEAl P AT

indefinite row pattern is known as : dferd ® ST e ©
(1) intercropping (1) IT-%ad

(2) crop rotation (2) FEA F AHIHL
(3) mixed farming (3) fEa T

(4) mixed cropping (4) M wEa

22. Which of the following hill station 22. fy=fafed wies wal § § F&-4A1

is one of the “Eco-Hot Spot” in THes W o fafqedr & do © ?
India ?

(1) Drass (Ladakh) (1) 59 (=)

(2) Pachmarhi (M.P.) (2) =S (W= =)

(3) Palampur (H.P.) (3) IeHYR (ATt =)

(4) Amboli (Maharashtra) (4) AR (FeRTg)

NTSE-Class-10th(SAT)-2020 P.T.O.



23. Two parallel chords AB and CD in a

24.

25.

circle are of lengths 8 cm and 12 cm,

respectively and the distance

between them is 6 cm. The chord
EF, parallel to AB and CD and
midway between them is of length

\/E, where & is equal to :
(1) 100 (2) 140

(3) 144 (4) 150

Who personified the statue of

liberty as female figure ?
(1) French artists

(2) British artists

(3) American artists

(4) All of the above

Which of the following is correctly

matched ?

(1) Mettur Dam - Krishna River
(2) Koyna Dam - Kaveri River

(3) Pravara Dam - Godavari River

(4) Narora Dam - Ganges River
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(12)

23. U% gq § AB R CD & §H(K

24.

25.

Sard & e darsar wAs: 8 &
A 12 % B, O = 6 g 6 A
2| Sfiar EF, 29 @M Saret & a9iae
T T 3% ITd dEl ad Red § AR
TOd @A Jk AW R, SRl kSR
g

(1) 100 (2) 140

(3) 144 (4) 150

wey o fgdl & & w0 e
i &1 7

(1) Il HAEHR

(2) IS FHABR

(3) TN FRHR

(4) ST Tl

e & & gaf @ 2

(1) HEET 9t - Fo0 T
(2) HIE Y - HAL T
(3) JaRT &Y - Mared] &
(4) T &Y - T



(13) A

26. Five identical resistance wires of 26. U UH g9 g0 ari wl R
1Q each, are connected as shown O W A 10 %, ﬁ‘ﬂT@’HTT et
in figure as clear lines. If two @ g el ™ 21Ok & A
similar wires are added as shown GIEU Eblf, E %lgﬂ? @ 9 @ mr
by dashed lines, find the change in g, @ ﬁﬂTﬂTﬂT e 9N, @ A IR B
resistance between A & B : & S 3T Ui H qiaa Brm

1) 20 1) 20
2) 10 2) 10
(3) 3Q (3) 3Q
(4) 40 (4) 40

27. When sound is refracted from air 27. @G+ & arg g o § e & é(q,
to water, which of the following T | HIF-AT STURafid T&ar & ¢

will remain unchanged ?

(1) Frequency (1) @ﬂ?ﬁf
(2) Wavelength (2 TTeH
(3) Wave number (3) T HE&A
(4) Wave velocity (4) T =

NTSE-Class-10th(SAT)-2020 P.T.O.



28. The reaction of burning of carbon in

29.

30.

oxygen 1is represented by equation
C(s) + O2(g) — CO2(g) + heat + Light.
When 9.0 g of solid carbon in burnt
in 16.0 g of oxygen gas the mass
of carbon dioxide gas formed
would be :

(Note: atomic mass of C = 12.0 p,

0=16.0w
(1) 2.33¢ (2) 22.0¢

(3) 25.0 ¢ (4) 33.00 g

Which one among the following

metal 1s more reactive than
hydrogen ?

(1) Mercury (2) Copper

(3) Silver (4) Tin

Which of the following compound
do not contain aldehydic group
(~CHO) in them ?

A. Formaldehyde

B. Propanal

C. Butanol

D. Pentane -3- one

E. 3- Methyl hexanal

1 C&D (2) D&E
3) A&C 4) B&C
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(14)

28.

29.

30.

el Sffre | ot @ e
e § g & §

C(s) + O2(g) — CO2(g) + AT + T,
9§ 9.0 g 3G HeE H 160 g
M 1§ Ted HOA A 2,
IO FEN SECTEEES | @l HE
B

(Are : Y] gamE C =

12.0 u,
0=16.0p)
(1) 2.33¢ 2) 220¢
(3) 25.0 g (4) 33.00 g

Frefafead agetl & & aA-@1 &
BIESIoT 1 oTUen aAfers fohanslicr & 2

(1) 91 (2) dH=

(3 =i (@ T (fe)
1 & @ 3-8 A 3 Ufceerzs
98 (-CHO) 78 & ?

A. FHicEeRS

B. JIU=d

C. S

D. U= -3 -3

E. 3-HUEd sFamd

(1) CTMD 2) DEME
(3) AT C 4) B C



31.

32.

Comparing different countries as

per Human Development Index,

which of the following is/are the

basis of ranking :

(1) Literacy rate of people
(i1) Health status of people
(i11) Per capita income

(1) only (1) and (i1)

(2) only (ii1)

(3) only (1) and (ii1)

(4) All of the above

Match the following column with
A and B in a correct manner and

answer.

Column - A Column -B

(a) Manchester (1) Information
of India Technology
(b) Sunrise (i1) dJute

Industry (iii) Ahmadabad

(c) Natural fiber (iv) Bangalore

(d) Silicon valley
of India

1) a (i), b (v), ¢ (), d (iii)
(2) a (iv), b (ii), ¢ (iii), d (i)
(3) a (i), b (i), ¢ (v), d (i)

(4) a(@ii), b @), c (1), d (iv)
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31.

32.

A

= 2o & d=d § A7a faed
OHE® & R W A B W
S W (¥ B/ e
fopar e ®

() AT H JeAlrE wWR
(ii) N @l e Refa
(iii) fT <AferT A

(1) &aa (i) 3 (i)
(2) Had (iii)

(3) A (i) 3 (iii)
(4) IR G+l

AT A IR B & &l oM 4
B0 @87 IAT I |

HH - A He - B

(a) T I AT (i) T S
(b) gaET FET () I

(c) U e (iii) STEHIEE

o

(d) 97d # e (v) SR

EIE]

(1) a (), b (iv), ¢ (), d (iii)
(2) a(iv), b (1), c (i), d ()
(3) a (i), b (i), ¢ (iv), d (i)

(4) a @), b @), c 11), d 1v)

P.T.O.



33.

34.

Electrolysis of sodium chloride
produces a gas A when A is passed
through solution of compound B
another compound C is formed
which is used as oxidizing agent in
many chemical industries A, B and

C will be respectively :

(1) CO2  NaCl NaHCOs
(2) CO; Ca(COOH); CaCs

3) Cly Ca(OH): CaOCly
4) Cly NazCOs NaCl

Where was first Printing Press

developed in 1430 ?

(1) England

(2) Germany

(3) America

(4) France

NTSE-Class-10th(SAT)-2020

(16)

33.

34.

HfeTH FANES & [GEd ToHed 4 ™
A % 0T 21§ 9 WA @0
TR A% B & 91 § o S 8
@ A C & e A oS a2
THENE FEW H SAFHRT BRE b
w0 ¥ W@ BT § A, B @ C @A
et

(1) CO2  NaCl NaHCOs
(2) CO; Ca(COOH); CaCs

3) Cly Ca(OH): CaOCl;
4) Cly NazCOs NaCl

frg S W 1430 # vl Bifdw O
fepita g5 7

1) gis
(2) ST
(3) STHNE

(4) wiE



(17) A

35. An octahedral die whose faces are 35. U% ITCHADT IH & ®adhl X 1 9
numbered 1 through 8 (only one 8 d% TEm itk (QEE el X
number on one face) is thrown Fad TH “\CI@TF)I T4 a9 9 I8
three times. What is the probability S 21 Yed & SuTe ¥ W St
that the product of the numbers RAENEE] X 98| H U g &
obtained in first two throws is NER &, SR FT T g7
equal to the number obtained in
the third throw ?

9 9
1) — 1) —/—
& 216 0 216
3 3
2) — [2)
@ 128 @ 128
3 3
3) — 3) =
3) o1 3) o
5
4) — 4) =
@ 128 @ 128

36. On which date Bengal was 36. F=1 9 @ f9 [y &1 &7 1905 d
partitioned by British Government ST WHER q A H e
in 1905 ? fepam 7
(1) 10 October (1) 10 IR
(2) 12 October (2) 12 FFR
(3) 14 October (3) 14 FFCR
(4) 16 October (4) 16 IR

NTSE-Class-10th(SAT)-2020 P.T.O.



317.

38.

Two metal pieces when immersed
in liquid experience equal upthrust

on them, then :

(1) Both pieces must have equal

weights

(2) Both pieces must have equal

densities

(3) Both pieces must have equal

volumes

(4) Both pieces must are at equal

depths.

In an imaginary economy, the
monetary value of contributions of
private sector, public sector,
primary sector, secondary sector
and tertiary sector are Rs. 500,
Rs. 1,000, Rs. 10,000, Rs. 5,000 and
Rs. 7,000. The Gross Domestic

Product of the economy is :
(1) Rs. 23,500 (2) Rs. 22,000

(3) Rs. 23,000 (4) Rs. 22,500

NTSE-Class-10th(SAT)-2020

(18)

317.

38.

qi] & & THe &4 H Y9N W T
M IeET a9 BTG FA e,

aq :

(1) E THSF B AT TN &

(2) E THS! H T TAA @

(3) A THS! B AT T ©

(4) I THS TN TEE W ©

Uh e e H el e,
At &, gefe &, fadae e
T qIIE & F@ OAEE T B &
4 IFEM HA: 500 %o, 1,000 %o,

10,000 %o, 5,000 %o, qIr 7,000 o,

g daEr # OTEA A IR
B

(1) 23,500%0 (2) 22,000 o

(3) 23,000%0  (4) 22,500 o



(19) A

g9, 1¢ V28-10V3 +V7+4V3 . 39. o V28-10v/3 +4/7+44/3 b
\/16+6\/7 \/16+6ﬁ
then what is the value of (2a + b) ? g, A (2a+b) F HH FM D 7
1 7 ) 7
(2) 14 (2) 14
1 1
3) 15— l
3 5 (3 15
1 1
4) 17= l
(4) 5 (4) 17
40. Which of the following curves best 40. T T HE-AT TH, A B G A
represent the variation in density M & T 89 a| 9Raae @
of water with temperature : g Tel e war ©

41. The number of neutrons in f;Al 41. f;Al q RS T B
1s :
(1) 40 (1) 40
2) 27 2) 27
(3) 14 (3) 14
4) 13 4) 13

NTSE-Class-10th(SAT)-2020 P.T.O.



42. There are three types of muscle

43.

44.

striated, unstriated and
Choose the

correct statement for unstriated

fibers,
cardiac muscles.

muscles :

(1) cylindrical, unbranched,

nonstriated, multinuclear and

involuntary

(2) spindle shaped, unbranched,
unstriated, uninucleate and
involuntary

(3) spindle shaped, unbranched,

non striated, multinucleate and

involuntary

(4)

cylindrical, striated, unbranched,

multinucleate and voluntary

Who was the author of the famous
book “Hind Swaraj” ?

(1) Mahatma Gandhi
(2) S. C. Bose
(3) Bhagat Singh

(4) Sarojini Naidu

If ax®+bx+c is divisible by

x2+dx+1, then :
(1) a?+b%2=ac Q) a®-c®=ab

B) a?-b*=ac (4) a®*+c*=ab

NTSE-Class-10th(SAT)-2020

(20)

42. 9 TR & UNT Fas B4 &, Wad,

43.

44.

R T &=l U Sash | eRRad
Ui S @ U @ faeed g

(1) SR,  AUEd, IR,
Tgh=H AR AE®

(2) g0 & TR &, AAMEd, IFRRa,
Thadsd AR TS

(3) gU & X H, AU, A,
Tgh=H AR AEE

(4) SR, Wd, AAMGd, TEh=ED
AR Ufess

yE Jew el 'R # aEd B
7

(1) W& et
(2) wH. T, 99
(3) W 4

(4) T g,

i ax3+bx+c, x2+dx+19 9"
g @
1) a?+b%=ac Q) a®-c*=ab

3) a?-b*=ac (4) a®+c*=ab



45. Match the items of Column - I with

Column - II and choose the correct

option :
Column -1

a. 4HNOs3+ C — 4NOy + COs +

2H>0
heat
b. 2KClOs(s) 2KCl+ 30,
Mn02
c. NaCl+ AgNOs — AgCl +
NaNOs
d. No+3Hy —L° oNH;
410°C

e. Na+ CuSOs— Na2SOs + Cul(s)
Column - 11

(1) Double displacement

(11) Displacement

(i11) Oxidation - reduction

(iv) Decompositon

(v) Combination

(1) a-v,b-ii, c-11, d-1, e-iv

(2) a-i1,b-1v,c-1,d-v,e-11
3) a-i,b-11,c-1v,d-v,e-1

(4) a-iv,b-11,c-1,d-v,e-1
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A

45. i -1 g Hre¥ - I & GAfed i

q @& famed B T

P -1

a. 4HNOs+ C — 4NOs + COs +

2H>0
heat
b. 2KCIOs(s) 2KCl+ 30,
Mn02
c. NaCl+ AgNOs — AgCl +
NaNOs
d. No+3Hy —L° oNH,
410°C

e. Na+ CuSOs— Na2SOs + Culs)
Hrad - 11

() 3B fqems

(ii) fereemg=

(iii) STRABIT - STIEIA

(iv) STTEe

(v) T

(1) a-v,b -iii, c-i, d-i, e-iv

(2) a-iii,b-iv,c-1,d-v, e-ii
(3) a-ii,b-iii,c-iv,d-v, e-i

(4) a-iv,b -iii, ¢ -ii, d - v, e- i

P.T.O.



46.

47.

Medulla oblongata is a part of
hind brain and is located beneath
the cerebellum. It controls various
functions of body through number
of centers. Which function of body

1s controlled by this ?

(1) heart beat

(2) rate of respiration
(3) secretion of saliva

(4) all of the above

A force ‘F’ is applied on one end of
a rope of length 'a'. P and Q are
two points of length ‘b’ from

nearest end. The ratio of tensions

in string at P & Q is :

> F

(1) bl(a—b)
@) (a=b)/b
(3) (a—2b)/b

(4) bl(a—2b)
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46.

47.

tgal offedilel UgH AR H U
e ¢ o AReem & = Reaa B
U8 HEl Db G H HEH H MR B
fafee=r @t @1 Fraf=a s 81
4 QB FE 39 R e e ?

(1) & # g8
(2) 9T F W
(3) WX & 91|

(4) ITFT Tl

& g0 T # ‘e’ @%@ Uh &
% UH R O T TR P SR Q
Mo B § b gl & A
fdg &, @ P ok Q W & § T
1 I BT

Q P

> F

(1) bi(a—b)
) (a=b)/b
(3) (a—2b)/b

(4) bl(a—2b)



48.

49.

50.

Through which one of the
following group of Asian Countries
does tropic of cancer pass ?

(1) India, Saudi Arabia & Sri
lanka

(2) India, Bangladesh & Indonesia

(3) Saudi Arabia, United Arab
Emirates & Oman

(4) Venezuela, Ethiopia & Indonesia

Vinegar is prepared form :
(1) Ethanoic acid

(2) Citric acid

(3) Methanoic acid

(4) Butanoic acid

Two masses of ‘m’ each are
suspended side by side at distance
‘a’, by two equal threads of length
b’ If ‘o 1is the angle that threads
make with vertical due to attracation
between masses, then o =

fje——a—»]
—
* o+

o
&
»

‘\- ? QI

[ cg 4| mG
(1) tan (mGj (2) tan (c2gJ

2
(3) tan’! (mc—ngj (4) tan’! (%J

O
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48.

49.

50.

A

ufreTs 2 # Frefafed § 4 aE-4
H9E 9§ &% @ Tl 6 7

(1) 9Rd, 9%al oRd, e

(2) ARG, AR, ST
(3) WA o, HYHR G IFHNE 9
SIEIE]

(4) ST, FATAT & SR

forent fped S Srar ® 7
(1) TIMEH =T
(2) fafgs o
(3) HINEH oFd
(4) FHTEH T

Eﬁﬂ'ﬁﬁ(ﬂ@%‘m’)ﬂ%‘a’ﬂﬁﬁ'{
-1 ‘b’ T B Al SIRAT & ad
TqeHAT T 2| ARG FIEET B SR
g & HROT, ARG H Ie@EX § T
arel BT ‘o B, Al o N AN BFM

* &

\"Q Q*

!
c

(1) tan_l[%j (2) tan_l(mTGj

3) t -1 _¢g 4) t -1l ¢ 8
@ tan( % an| €



2
51. If sin6= m” +2mn then

9
m? +2mn + 2n°

1
secO—tan6 cosO

is equal to :

m2+mn

1)

n?+2mn

(2) n-+mn

m2+mn

2
m-+mn
B —5——

n2+mn

m? +2mn
2(n2 +mn)

4)

52. What is the number of the pairs of
positive integers, the difference of

whose squares is 45 ?
1) 1
2) 2
3) 3

4) 4
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51.

52.

2
¢ sin@ = 2m +2mn 3 %, ar
m-°+2mn+2n

1 1 % :

secG—tanG_cose

m2+mn

1

n?+2mn

(2) n-+mn

m2+mn

2
m-+mn
()

n2+mn

m? +2mn
2(n2 +mn)

(4)

o QUi & g b ded), e o

& A 45 &, B ?

11
2 2
3) 3

4) 4



53.

54.

Shyam has taken a domestic gas
connection from IOC but local
agency manager insisted him to
purchase a gas stove @ Rs 4,000
from them. Which of the following
rights does this practice violate

under Consumer Protection Act ?
(1) Right to Represent

(2) Right to Information

(3) Right to Choose

(4) Right to Safety

Pandu port is a riverine port
developed on the which of the

following bank of the river ?

(1) Ganga

(2) Tapi

(3) Brahmaputra

(4) Krishna
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53.

54.

M eI offad FH § UF W
T g forn Al ®EE oo &
TSR A 4,000 Fo, H TF T €@
gie & [ g feEr) B oH
HIF-HT HAHR, ITAEN AT T &
R 36 TR & Sed H Al
g7

(1) Hici~ifere a1 sAfereR

(2) G a4 &1 AR

(3) =TT H HEER

(4) G H FUER

qig U /e Freiiead § A e
T & R eiaa e e 7

(1) 7
(2) ardr
(3) STRIgA

(4) =

P.T.O.



55.

56.

In which of the following areas
Lok Sabha and Rajya Sabha have

equal powers ?

(1) Legislative

(2) Financial

(3) Constitutional Amendment

(4) Executive Power

Water flows at the rate of 10 m per
minute through a cylindrical pipe
with internal diameter 2 cm. How
long (in minutes) would it take to
fill completely a conical vessel
whose radius is 50 cm and depth

45 cm ?

(1) 35

(2) 37.5

(3) 40

(4) 42.5
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55.

56.

= &= H deadr g o9 99 @
fr &9 & gue qfeaar 2 7

(1) fagemE &=

(2) i &

(3) Hau~E Heee &=
(4) HrETITHR &

HdRE A 2 FHI A TF SR
=Y & 10 Ho uiy e & AT @
gl FB 21 $9 URY ERT B 50
i T s 45 oW %
JFIRR T B YU AT H R
g9y (e ) @ ?

(1) 35
(2) 37.5
(3) 40

(4) 42.5



57.

58.

Which of following elements form

basic oxides ?

(a) an element with atomic
number 10

(b) an element with atomic
number 12

(c) an element with atomic
number 16

(d) an element with atomic
number 19

(1) aandc (2) bandc

(3) candd (4) bandd

Which of the following is true
about the two statements ?

Statement - I : Ordinarily H,S is
a gas and H,0 is liquid.

Statement - II : Sulphar is more
electronegative so that is forms

hydrogen bond.

(1) I1is correct but II is incorrect.

(2) I1isincorrect but II is correct.

(3) Both statement are correct and II

1s also correct explanation of I.

(4) Both are correct but II is not
correct explanation of I.
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57.

58.

A

frr & @ 39 4 T ey SRS
& T e 2 7

(2) YRHTY] BHIE 10 Tl I

(b) TRHTY] AT 12 el T

(c) YRV A1 16 aTel T

(d) YA HHI% 19 Tl T

(1) addlc (2) bdc

(3) caard (4) b d

Al FEA ® fou e OH | R Je
g7

FT - I : FEReAA H,S 0% 19 &
AR H,0 TF T & |

HIT - 11 : qeHT A fgaaemes
% THRC BRSS9 g B

(1) FF 1 T8 8 Wy F 11 T
2l

2 FF 1 Td & Wy w9 11 T
2l

(3) AN FIT T T A FT 11
FIT 1 H 9el e o 2

(4) T FOF GEH Z AW FH 11
FHIT 1 F Gel e el 2 |

P.T.O.




A (28)

59. Which 1i1s the other name of 59. WWW%H{ TR ?

Sahyadri Range ?

(1) Western Ghats (1) Ti=Hl =1
(2) Teaser Himalayas 2) = feareg
(3) Shivalik (3) Taranfcre
(4) Arakanyoma Mountain (4) TTEE gad
60. In the circuit shown : 60. f@m T aRuy ¥ :
20V 20) 20V 20
—— A—— —A— AW————

(1) Current flowing from battery (1) J0 9 yared )7 5 THEY B |
is 5 A.

(2) Power supplied by battery is (2) I8 F YET A 200 dfE E
200 W.

(3) Potential difference across 4Q (3) 4Q % R W AwamR, 6Q &
is equal to the potential ol WX favarat & Us) 7

difference across 6Q.

(4) Both (2) & (3) (4) (2) Tu1 (3) Al
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61.

62.

63.

Plants absorb water through its
But,

mainly water is absorbed by root

roots, stems and leaves.

hairs. These hair roots absorb

water, when :

(1) plants respire rapidly

(2) soil solution is isotonic

(3) salt concentration of soil 1is
high

(4) salt concentration of cell sap is
high

The value of

(secO+tan0)(1—sin6)secd
(1+tan®+secO)(1+ cotO—cosech)
lies between :

(1) 0.2and 0.4
(2) 0.4 and 0.6
(3) 0.6 and 0.8
(4) 0.8and 1

Who founded the Swaraj Party
within the Congress ?

(1) S. C. Bose and Pt. J. L. Nehru

(2) Mahatma Gandhi and S. C.
Bose

(3) Pt. J. L. Nehru and Moti Lal
Nehru

(4) C. R. Das and Moti Lal Nehru
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61.

62.

63.

A

T AT Sl T R
qeEH qOUHl N SEsiid
ofehd geF &G F Gl Bl TSl @ g
19 ER EefT R S g1 F A
I g F STENMNT FA &, 5

(1) qY 0§ 9 a2
(2) 9ol foeras |HuEr] & |
(3) MHEE @ TEoT dredr AE B |

g @
A 8

(4) FAH O § T GEEAT TR
2|

(secO+tanB)(1—sin0O)secO
(1+tan®+secO)(1+cotd—cosech)

HAF T ST F 7

(1) 0.2 30X 0.4
(2) 0.4 317 0.6
(3) 0.6 37X 0.8
(4) 0.83X1

HAG B TS & WS el i T
fres @l 7

(1) 9. 9. 99 AR F. uq. Jee
(2) TETEHT e oY uE. §1. a9

(3) Ufsd F. TE. qEE X WA A
TEE

(4) 9. IR, T X 9N A eE
P.T.O.



64.

65.

The variation in momentum with
time, for a body under collision is
shown in figure. The max. & min.
forces

instantaneous are

respectively on these points -

1) B, C
@) C, A
(3) D, A

4) A, D

If x2-3x+1=0, then what is the

value of (x°+x7°)?
1) 119
2) 122
(3) 123

(4) 125
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64.

65.

T & XM Th %G b o H
q9g & @Y BN d qREdd & fEE
¥ agiEr TR oI U g
dchlicreh el AL &9 fergall T &

(1) B,C

@ C A

3) D, A

4 A,D

AT 22 -3x+1=0 2, @ (x® +x7°) @
O 1 B 7

(1) 119

2) 122

(3) 123

(4) 125



66.

67.

Match the following Iron ore and
minerals areas in India with the

correct states.

(a) Karnataka (1) West
Singhbhum

(b) Odisha
(c) Jharkhand (ii1) Bailadaila

(11) Kudiremukh

(d) Chhattisgarh (iv) Cuttack
(1) a@y),b @v), c @), d (11)
(2) a@),b (1), c (1), d @v)
(3) a(@ii), b (11), ¢ (iv), d (@)
(4) a@v), b @), c @i1), d (1)

If there are two economy having
same per capital income of $50000,

then can we state that :

(1) Income distribution in both

countries should be equal.

One
distribution of income while
other

disparities between rich and

(11) might have equitable

might have great

poor.
(1) only (1)
(2) only (ii)
(3) both (i) and (ii)

(4) none
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66.

67.

A

IRA & qlE oTEh (QE) & I
el TG § e T g ST E
() Pleh () i Rieym
(b) TS (i) FEgE

(c) FRES GHERIEN!

(d) BT (iv) FF

(1) a@y),b @av), c @), d (111)
(2) a @), b @i1), c (11), d Av)
(3) a(@ii), b (1), ¢ (iv), d (@)
(4) a@v),b @), c @), d (1)

A & Ul orfegaed & R ofy

i 3T 50000 (X 2, o F1 &9

e THd B

@) A IW T T H N IR
BT e |

(i) % T H M H 99N faawor &
Tl & STaih gAY a9 H IR g
THE § P% STOHMdT & Hehdl
2

(1) %9 (i)
(2) % (ii)
(3) & () T (i)
(4) #1E T

P.T.O.



68.

69.

If the radius of a cylinder 1is
increased by 12 cm, its volume
increases by x cm3. If its height is
increased by 12 cm, then its
volume 1is also increased by x cm3.
If the original height is 4 cm, then,

its original curved surface area (in

cm?) is :
(1) 487
2) 727
(3) 96

(4) 1087

In which of the following groups
would you place a plant that
produces spores and embryos but

lacks seeds and vascular tissues ?
(1) pteridophytes

(2) bryophytes

(3) gymnosperms

(4) thallophyta
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68. I fopedl S & Broar § 12 9 &

69.

gis I B, O 3% o’ § x a4
F ghg et 21 A JaT B Ha 7
12 ¥ & ghg o B, 99 Ff 3
dqEa # x GHC° @ g B 51 Ak
TP ARRYE SO 4 A9 B, @ S
P ARTE 9 < & (FH2 H)
2

(1) 48n

2 727

(3) 961

(4) 1087

A Frfafad § 8 e g §
sl i cen M |l G
FXA B Al dS R Hagsl FHadi
P F B B 7

(1) MEwEe

(2) SAwEH

(3) Forreas

(4) FefprEel



70.

71.

In 1772 who remarked that

demand for Indian textiles could

never reduce 1n ?

(1) Henry Patallo

(2) Henry Smith

(3) Henry George

(4) Henry Joseph

Choose the group of two states

having coalition government :

(a) Orissa

(b) Haryana

(c) Maharashtra

(d) M. P.

(1) a,c

@) b, d

3) b, c

4) c, d
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70.

71.

1772 ¥ 9 ¥ 9 fE9 ®a1 a1 &
RO SFEeRd (FUST SEM) H AN
FA FH el o gl ?

(1) &40 gel
(2) &0 ey
(3) &I i

(4) &0

A A B W A B oA

e TR B
(a) I

(b) BT

(c) e

(d) 7= W=

1) a,c

@) b, d

3) b, c

4) c,d

P.T.O.



72.

73.

74.

Development and formation of
pollen grains in anther of the

stamen is known as :
(1) microsporogenesis
(2) fertilization

(3) megasporogenesis

(4) spermiogenesis

Which of the following is not a

pollutant ?
(1) SOq
(2) CO2
3) CO

(4) NOq

Which is

liberalization and globalization ?

not the aim of

(1) More production at all levels

(2) Increase in the trade of goods

and services

(3) Generation of more employment

opportunities

(4) Increase the subsidies to the
poor and deprived section of

the society
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72.

73.

74.

g & TN § R & (o
AR TS H FHel S 8

(1) T
(2) e

(3) THASTS
(4) TS

Frt & A uas 78T ¢

(1) SOq
2) COq
3) CO

(4) NOq

TEHCT AR dGEHTT H I
Fr & @ .41 787 2 7

(1) 9 & ) oTF IdeT

(2) a5l Teq Farell & @AUR H
IRt
(3) IR & 3Afeeh FTHT G &Ll

(4) S & WY 9 dbd T B
M T H g



75.

76.

71.

The deepest landlocked port in

Indiais:

(1) Paradip Port
(2) Madras Port
(3) Calcutta Port

(4) Visakhapatnam Port

Which of the

statements are true ?

two following

(1) Indiais Unitary state
(i1) India is federal State
(i11) India is union of states

(iv) India 1s federal state unitary
federal

) i, iv
(@) iii, iv
(3) ii, i

(4) i, iii

Which of the following reflects

situation where a person 1is

employed but do not contribute in
adding to the total product ?

(1) Open unemployment
(2) Disguished unemployment
(3) Season unemployment

(4) Frictional unemployment
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75.

76.

717.

A

WRA H g W B g "EE R
e -1 & ?

(1) 9REY To

(2) WEE SETIE

(3) FHABTT FELTB

(4) fasmEEeTy de3e

Fre=t & q 98 & ae g e ?

(i) AT THEH T 2

(i) R THF T ¥

(iii) 9T T B HYE &

(iv) 9RG TPHe  faQwarell & Ay
T T ®

D) 1i,iv

(2) iii, iv

(3) ii, i

(4) i, iii

1 & 9 a9-ar Rufg coidr ®
U R TR F A B TR
SOE M ¥ HE ANEM e
g7

(1) Gl ST
(2) W AU
(3) HEHT ST
(4) FEES IS

SEl
ol

P.T.O.



78. A person decides to live exclusively

79.

80.

on a diet of milk, egg and bread.

He would suffer from :
(1) scurvy

(2) beri-beri

(3) night blindness

(4) rickets

The efforts made to increase farm
production in order to meet the

growing demand of increasing

population is called :

(1) Agricultural Quotient

(2) Agricultural Degeneration
(3) Agricultural Development

(4) Agricultural Index

Who decides the nature of bill in
Lok sabha ?

(1) Prime Minister
(2) Leader of Opposition
(3) Speaker of Lok Sabha

(4) General Secretary of Lok Sabha
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78. UF AR g, 1 o ST (s59)

79.

80.

% N W 999 ®9 T & & badl
H & | 98 difed B

(1) el
(2) Fh-=d
(3) i
(4) fthea

9Gdl SEE & gedl HiT A
FH T FH IERAT F# TeH B
i o) M e e 3 s 1 | B

(1) BN o
(2) T gaX
(3) FW fopr

(4) B FaAH®

dE a4 ¥ 99 & @ey # FH a7
HAT & 7

(1) JEE=
(2) fager &1 =ar
(3) Tk T 3TeTe

(4) W% 91 F T



81.

82.

83.

Two bodies of masses m, & m,
(m,>m,;) are dropped from heights
‘@’ & b’ respectively. The ratio of
velocities with which they reach

ground 1is :
(2) alb

(3) +J(am,/bny) (4) +/(alb)
If \/x2+3\/x4y2 +\/y2+3x2y4 =k,

then which of the following is true ?

(1) m,/m,

(1) x2+y2=k2
(2) x3/2 + y3/2 - k3/2
(3) x2/3 + y2/3 = k23

(4) x'3 + yU3 = 13

What is the other name for civil

code of 1804 in France ?
(1) French code of law
(2) People’s code of law

(3) Napoleonic code

(4) Code of law
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81.

82.

83.

A

maﬁTmbWﬁafa?{‘ﬁ(ma>mb)
P FAM @’ AR D HAr A AR
TN 3 OO 9 UgEH & aW
ST B

1) mgy/my (2) alb

(3) J(am, /bmy) (4) [(@lb)
o \/x2+3/x4y2 +\/y2+3x2y4 —k,

a9 1 & @ H9-A B g R 7

(1) x2+y%= k2
(2) x3/2 + y3/2 - k3/2
(3) x2/3 + y2/3 = k23

(4) x13 + yU3 = 13

1804 & ®i| H fHlaw ®Is &1 g@q

T oAy v
(1) %= af
(2) U «f
(3) WIfTE HiS

(4) FIE TEF ot

P.T.O.



84.

85.

Two pendulums of lengths 1 m &

25 m are given a small
displacement at same instant in
same direction. After how many
oscillations of smaller pendulum,

both will be in same phase ?

(1) 5/4 () 4/5

(3) 3/5 (4) 5/3

An element X (atomic number 20)
reacts with another element Y
(atomic number 17) form a compound
Z. Which of the following statement

are true regarding this compound ?
I. Molecular formula of Z 1s XY

II. X and Y are joined by sharing

of electrons

ITI. Z imparts characteristic flame

colour

IV.

It is soluble in water

(1) II &III
@)
®3)

4) 1,11 & I11

LIII &IV

IT, IIT & IV
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84.

85.

1 Hlo Tg 25 Ho & T Al B Th
Y uE & feem § feeniud e
Bl d® @ [had aHl @ 9L,
Al dler qHH el | B 7

1) 5/4 () 4/5

(3) 3/5 (4) 5/3

U G X (THY] HE 20) Y a
Y (TEM] & 17) | AR B
U AR Z a1 51 AN Z & fg
1 o @ #o9 @ & 7

I Z % TS XY: ©

IL X @ Y SogeHl @l @ 4
e &

II1. Z ST & i 7 Uee el
g

IV. 78 oa § fao &
(1) I & III

@ LII&IV

(3) II, III & IV

(4) 1,11 & II1



86.

87.

In an arithmetic progression, the
sum of its fourth, seventh and
tenth terms is 17 and the sum of
its first 14 terms excluding first
three terms is 77. If its kth terms

1s 13, then the value of k 1s :
(1) 16
2) 17
(3) 18

(4) 20

ABCD 1s a trapezium in which
AB| | DC, AB =50 cm, BC = 20 cm,
AD = 15 cm and the difference (in
cm) between DC and AB is a whole
number. The area of the trapezium
1s :

(1) 625 cm?

(2) 650 cm?

(3) 750 cm?

(4) 780 cm?
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86.

87.

A

ot wiae oot 8, 3o 9, 9md
A 103 T& F A 17 ® JA D
Jg9 14 Wl YBd I YA H BIgH,
& AN 77 B IR SHE kA | 13 B,
Tk E AN

(1) 16
2 17
(3) 18

4) 20

ABCD & #9ad & fed AB| | DC,
AB = 50 &I, BC = 20 &I, AD =
15 & T DC X AB # & (8
H) uF g G 2| g A
R

(1) 625 T2
(2) 650 THZ
(3) 750 THI

(4) 780 THZ
P.T.O.



88.

89.

Which Agency of UN got Nobel

Prize for peace of 2020 ?
(1) UNICEF

(2) WHO

(3) WFP

(4) UNESCO

A horizontal force ‘F’ is applied to
keep the block stationary on a
frictionless inclined plane. Find
the angle of incline, for which the
applied force is equal to the weight
of body :

(1) 30°

(2) 45°

(3) 60°

(4) 90°
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88.

89.

HgHT TS &I A G & 2020
g~ e G fogr T ?

(1) J. . % 1. 3. TF.

(2) 3=g. TF. 3.

(3) =Y. UH. UI.

(4) 9. . 2. w9 oo,

U HYOT ed AaEHTd W, U fUe
F Rer e & fw @ T afos
gq ‘F’ B Aq99ad & afoet 9 a9
e T e o, ggE o, 9% @
IR & ) 8l

(1) 30°

(2) 45°

(3) 60°

(4) 90°



90.

91.

In which of the following states
India’s first textile University will

be set up ?

(1) Maharashtra

(2) Gujarat

(3) Madhya Pradesh

(4) Uttar Pradesh

Which country has the tradition
which once a speaker, always a

speaker ?

(1) USA

(2) France

(3) China

4) U.K
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90. < O H 9 Ugal a9 fas@fEmay

91.

fopq Tog | TS feha Sa ?

(1) "R

(2) o

(3) I U

(4) ITAT TS

P2 ¥ g8 g 2 6w A o
WY S T4 98 ded WiwT W@ 7

(1) TR

(2) wig

(3) =M

4) 4.%.

P.T.O.



92. There are two spheres of same

93.

material and radius. One is solid
and other is hollow. If they are
heated to same temperature the

expansion of :

(1)

Solid sphere is more

@)

Hollow sphere is more

(3) Solid & hollow spheres are

equal

Solid is outwards while hollow

(4)

1s inwards.

The metal atom which is present

in superphosphate is :

(1) Sodium (Na)

(2) Potassium (K)

(3) Calcium (Ca)

(4) Magnesium (Mg)
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92. T% THN T 9 BoO & & U 2

93.

=0 A UF S 9 qE G B A
S U §9M a9 a% T 6 S, @t
TR BN

(1) 319 Md § a1fer
(2) GrEd Ma H A

(3) 39 T GrEd Ml § 9M

(4) 39 F TR H AR A GrEd
& ATEL D 3N

GIERET H JUReT o WA -4
27

(1) |Ifsa™ (Na)

(2) MefEH (K)

(3) Hicadd (Ca)

(4) FEREE (Mg)



94. The mean of three numbers is 11

95.

more than the least of the given
numbers and 15 less than the
greatest number among them. If
the median of the three numbers

1s 10, then their sum is :

(1) 42

) 44

(3) 45

(4) 48

What is the main theme of the
book “Istri Dharm Vichar” written

by Ram Chaddha ?

(1) To teach women how to react

against injustice

To teach women how to behave

2)
in the family

To teach women how to

3)

compete with the western

world

To teach women how to be

(4)

obedient wives.
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A

94. TN dEAel & ey SHE 9 H@Ed B

95.

e ¥ 11 s B ok o § g9
T o= q 15 FH ol A T A
deme & Wegd 10 T, o deed
T AN T

1) 42
©2) 44
(3) 45
(4) 48

T Tgel ER el gEe Elogd
ferme’ =61 g o9 @ oo ?

(1) f=a @ o= & faes ufakear
3T R

(2) TREX § F@ER FHN = F
T

(3) fordl @ WA (dfes) g &
e foeqet e e

(4) A ® AE Uel SW
ISECIRI

P.T.O.



96. AB is a line segment with A = (-2, 3)

97.

and B = (5, 5). It is reflected in the
x-axis. Then, its image 1s reflected
in the y-axis. What is the sum of
the coordinates of the midpoint of
the final image ?

1) 5
1
@ 5

1
3) —55

4) -5

In human beings, excretory
products are removed by exeretory
system. Which part of the
excretory system help in removing
nitrogenous waste such as urea or

uric acid from blood ?
(1) Ureter

(2) Urethera

(3) Kidney

(4) Urinary bladder
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96. 3Ty A = (-2, 3) T B = (5, 5)

97.

Id Th @EE AB @ x- A
WEkid e S ¥ oeiR R zew
O ufafee @ y-37e] ¥ gxratad et
S B offw ufafds & "efdy &
ettt 1 9T ® -

1) 5
1
@ 5

1
3) —55

4) -5

HHE SRR 7 Sefoie Scd1s, oo
N ARy M@ S g1 S ae
F HE-A ST T AU gRA
qq gRE R H el b H

TETE © °

(1) gevateH
(2) R
(3) 3H

(4) =T



98. The force between a hollow sphere

99.

of mass M and a point mass ‘m’at
P inside it (Shown in figure):

(PC =X, Radius =r)

GMm

(1) 7, attractive
(2) (f—]‘i?; , attractive
3) (f—]‘i?; , Repulsive
(4) Zero

The area (in square units) of the
region bounded by the graphs of
|x] + y =4 and x + 5y = —4 lies

between :

(1) 14 and 17
(2) 17 and 21
(3) 21 and 25

(4) 25 and 29

NTSE-Class-10th(SAT)-2020

(45)

A

98. T% M EZHM & WEd Ta AR I9®

99.

Wi U g ZeguH ‘m’ W1 P W
W@ ¢ (FAER) & 7= @ aen
I B

(PC = X, Radius =)

GMm
2

(1) , attractive
X
(2) GMm2 , attractive
(r-X)
3) GMm2 , Repulsive
(r-X)
(4) Zero

x| +y =43 x+5 =473
A BN UNES &5 & e (i
e °) Fr & o9 Red ®

(1) 14 3R 17
(2) 17 3R 21
(3) 21 3R 25
(4) 25 3% 29

P.T.O.



100. Mr. Anil lives in village and is

engaged in agriculture occupation.
He needs some money and takes
loan of Rs. 1,00,000 from co-
operative bank situated in his
village. He also borrows Rs. 50,000
from money lender of the village
and Rs. 25,000 from his friend. In
this situation, what is the ratio of

his loan from formal and informal

sector ?

(1) 4:3

2) 1:2

3) 1:5

4) 3:

N

(46)

100. <M oM UH Mg H wd 2o

P FaEE § T g 2| IH B 4
I TETHA & A IaT T F &
Ffeq §% d 1,00,000 FIT FH R

o forar) sEd ofemer IEA Mg & &
HEHX & 50,000 HIT TN I TH
e @ 25,000 YT & A A TR
o o3 R d OIEE R A
A= T S & H

S & 7

(1) 4:3

2) 1:2

3) 1:5

N

4) 3:
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5.

10.

11.

12.

13.

14.

15.
16.

17.

TR, SIR-UFS H FRIRT @Ml B bl dfa
| YOI BTAT HRAT E, & T e

© e O o

MY gRT fear T SR g AFT ST, afe SR drel
@M BT 9 TR ¥ W) ®

© ® © @
I T I SITST WHI BT MR < & T MUBT AR Tead
HET ST |

[ &
wrse U9

ES]
T B

. X% BRI U IRAST § 39 WAoo &1 T8 wmelt

ST TR B BN |

. O SR B STR-IF6 (OMR) W & &ifhd &Y | 3o

IR IHGES 3ifhd P | IR I8 B WA oD
(e degs) b1 T g B

.6 T 3 fov Ry v aR fieewt § ¥ Sfua

fded & forg STR-9a& (OMR) W ®ad (& & g
B T WE P dfd @Ee 0 F W | UF IR IR
3ifhd B B 915 S IEAT TRl Sl FhaT & |

. 3rgedt gRRad o fF 39 STR-I=® @1 AT 7 WY d

IH R Pl 3 (R T E | anaeft a1 rgsheic
I-uFw # fuiRa e & afiRed sma 7 ford |

T gRAST Td STR-UFAS HT LIMdd TART o, Fifh
fre N oRReIfY 3§ (@aat ued gJRAPT T STR-ITS &
HHie § A o Rafd &1 elear) ol ge7 gRasr
e Syerey 7& Bvarg syt

g gRA®T /ITR-9FS H QT wHie BT et e
WD J BN g5 ¥ forgd |

et BI WRIET B/ PeT § WY Bl @ Ryara ey
UhR B yreg-arfl, gfad a1 st drrel @
feidi, UoR, HEISd BIF, Soidei™e SUBRY AT fbur
I UHR B AP BT of S AT SUINT A BT STFAM
& 2

et gRT A0 99 W Y® nedl 31gHT yder TS
Rt o) faward |

T e a1 e @ fRw ogafa & far a8
g} ST v | BIS |

Solde i~ / BXddToTd URebeTd BT SYANT afoid & |

el grerad # ued gRAPT IR STR-UFAS HT B 9N
AT T BN |

T T B WR, nge del /B Bred ¥ gd STR-

T HE—{RIeTd Bl g FY < | ngeft oy |y wed
gRABT BT o S Tl 2 |

10.

11.

12,

13.

14.

15.
16.

17.

. Answers to questions in answer sheet are to be given

by darkening complete circle using Black ball point pen as
shown below :

O e O o

The answer will be treated wrong, if it is marked, as
given below :

v ® © O

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

. The candidates should ensure that the Answer Sheet is

not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall
Candidates are allowed to take away this Test Booklet
with them.
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